Wood construction screws | €Urotee .

Technical information
Paneltwistec AG, countersunk-head, blue galvanised

) Hﬁ-ll.‘l.';".'l?-‘l

Dimensions Extraction resistance ~ Head pull-through resistance Wood / wood shearing Steel / wood shearing

7007777,

UL DLLALLULLD
il

ET
e o
== % Faxmam{ Vo) T Ve m B !
— = = M o Ve =
=i — | — —
dixlL d& A H Fusone Pt Fip Fi Fi Fi N (TR
[mm]  [mm] [mm] [mm] [kN] [kN] [kN] [kN] [kN] kN]  [mm] [kN]  [kN]
= 0 = 90
=0 =90’ 0g=90" og=0’ o=0" o=90°

35x30 10 12 18 0,84 059 0,62 | 0,86
35x35 10 14 Al 098 0,59 0,67 | 092
Wl 10 16 u 11 050 070 | 095
Bl 100 180 126 050 074 | 099
35x50 10 0 30 1,40 0,59 0,78 1 1,02
40x30 8,0 12 18 093 0,77 0,1 1 091
40x35 8,0 14 l 1,08 077 0,80 1 1,0
R 14 077 084 2 115
40x45 8,0 18 n 1,39 077 0,88 1 119
4.0x50 8,0 20 30 1,55 0,77 0,92 2 1,13
60 80 M % 186 077 1o 2 1A
T . ) 217 077 10 2 138
a0 80 B 4 248 077 10 2 146
el 90 16w 13 097 10 2 134
A R 151 097 10 2 140
x50 90 N % 169 09 1,08 2 144
45x060 90 U 36 203 097 117 1 1,53
45x70 90 28 42 236 097 1,26 2 1,61
45x80 90 32 48 210 097 1,26 2 1,70
50x40 10,0 16 U 1,45 1,20 11 2 1,44
50x45 10,0 18 7 1,63 1,20 1,20 2 1,62
5,0x50 10,0 0 30 1,82 1,20 1,4 2 1,67
5,0x60 10,0 U 36 218 1,20 1,34 1 176
S0 100 B & 254 120 14 2 185
50x80 10,0 1 48 290 1,20 1,52 1 194
50x90 10,0 36 54 30 1,20 1,52 1 203
50x100 100 40 60 3,63 1,20 1,52 1 212
50120 100 50 10 424 1,20 1,52 1 0

Calculation according to ETA-11/0024. Wood density pi= 350 kg/m?. Al mechanical values provided should be viewed as subject fo the assumptions that have been made and represent example calculations.

Ml values are calculated minimum values and are subject to typographical and printing errors.

a) The characteristic values of the load-bearing capacity Ry cannot be treated os equivalent fo the max. possible load (the max. force). Characteristic values of the load-bearing capacity Ry should be reduced to dimensioning values Ry
with regard to the usage class and class of the load duration: Ri= R - ko / v, The dimensioning values of the load-bearing capacity Rs should be contrasted vith the dimensioning values of the loads (Ry > Es).

Example:

Characteristic value for constant load (dead weight) G,= 2,00 kN and variable load (e. g. snow load) Q= 3,00 kN. ksei= 0,9. v,=1,3.

—> Dimensioning value of the load Ei=2,00- 1,35+ 3,00 1,5= 7,20 kN.

The load-bearing capacity of the joint s therefore considered to have been demonstrated if Ry > Es. — min Re= Ry -y, / knot

i.. the characteristic minimum value is colculated based on: min Rz Ry y,, / kst — Ri= 7,20 kN - 1,3/0,9= 10,40 kN —> comparison vith table values.

Please note: These are planning aids. Projects must only be calculated by authorised persons.
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€urotec | Wood construction screws

Dimensions Extraction resistance ~ Head pull-through resistance Wood / wood shearing Steel / wood shearing
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[mm]  [mm] [mm] [mm] [kN] [kN] [kN] [kN] kN] (kN]  [mm] [KN]  [kN]
Oyp= 00 Oyp= 900
o=0 =90’ og=90° og=0" 0=0" a=90
6Ox60 130 M % 246 173 171 2 2%
60x0 10 B 4 247 173 182 2 2%
60x80 130 2 4 308 173 19 2 246
60X 10 % N 360 173 205 2 257
60x100 120 4 60 410 173 207 2 247
60X 120 &0 479 173 207 2 28
60XI0 120 %0 0 47 173 207 2 28
60x10 120 60 0 47 173 207 2 28
60x40 120 0T 47 173 27 2 28
60x150 120 8070 47 173 27 2 28
60x160 120 %070 47 173 27 2 284
60x180 120 1070 47 173 27 2 284
60x200 120 10 70 47 173 27 2 18
60x10 120 1070 47 173 207 2 18
60xM0 120 0 70 4 173 207 2 18
60x260 120 190 70 47 173 207 2 28
60x380 120 W0 70 47 173 207 2 28
60X30 120 W0 47 173 207 2 28
B0x80 M5 0 50 426 250 3 290 3 290 I 4% 3m
BOXI0 M5 4 60 533 150 413 330 413 330 348 40
BOXIN M5 50 0 586 150 413 350 413 350 3 4% 4M
BOXI0 M5 4 100 B4 150 413 330 413 330 350 4%
BOXI60 M5 60 100 B4 250 413 350 413 350 350 4%
BOXIB0 M5 80 100 B4 250 413 350 413 350 350 4%
BOXN0 M5 100 100 B4 250 413 350 350 413 350 4%
BOXIN M5 10100 B4 250 413 350 350 413 350 4%
B0XM0 M5 140100 84 250 413 350 350 413 350 4%
BOX260 M5 160 100 84 250 413 350 350 413 350 4%
BOX2B0 M5 180 100 84 250 413 350 350 413 350 4%
BOXI0 145 W0 100 B4 250 413 350 350 413 35K 4%
BOX0 15 W10 B4 250 413 350 350 413 3560 4%
B0xM0 M5 M0 100 844 150 413 350 350 413 350 4%
BOx30 M5 0 100 844 150 413 350 350 413 3050 4%
B0x30 M5 W0 10 B4 150 413 350 350 413 350 4%
BOx400 15 300 100 844 150 413 350 350 413 350 4%

(alculation according to ETA-11/0024. Wood density pi= 350 kg/m?. Al mechanical values provided should be viewed s subject fo the assumptions that have been made and represent example calculations.

Al values are calculated minimum values and are subject to typographical and printing errors.

a) The characteristic values of the load-bearing capcity Ry cannot be treated os equivalent to the max. possible load (the max. force). Characteristc values of the load-bearing capacity Ry should be reduced to dimensioning values Ry
with regard to the usage class and closs of the load duration: Re= Ry - knut / . The dimensioning values of the load-bearing capacity R should be contrasted with the dimensioning values of the loads (Rs > Ey).

Example:

(hurudfrisﬁc value for constant load (dead weight) G,= 2,00 kN and variable load (e. g. snow load) Q= 3,00 kN. ko= 0,9.7,=1,3.

—» Dimensioning value of the load Ei=2,00- 1,35+ 3,00- 1,5= 7,20 kN.

The load-bearing capacity of the joint s therefore considered to have been demonsirated if Ry > Ex. — min Re= Ry -, / kot

i&. the characteristic minimurn value is calculated based on: min Ry= Ry~ vy / knos — Ri= 7,20 kN - 1,3/0,9= 10,40 kN — comparison with fable values.

Please note: These are planning aids. Projects must only be calculated by authorised persons.
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Wood / wood shearing
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Dimensions Extraction resistance ~ Head pull-through resistance
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[“ xL dk AD 1] Fux,?[l,kk an head Rk F|H,Kk
[mm] [mm] [mm] [mm] [kN] [kN] [kN]
o=0
B80x40 45 30 100 B4 15 413
BOx40 145 00 100 B4 150 413
BOx460 145 00 10 B4 150 413
BOx480 145 00 100 B4 25 413
BOX500 145 00 100 B4 15 413
BOXS0 145 00 100 844 25 413
BOX600 145 00 100 B4 25 413
100x100 178 40 60 648 363 573
00x10 178 %0 70 113 363 607
00140 178 4100 10,26 363 573
100x160 178 60 100 10,26 363 607
100x180 178 8 100 10,26 363 607
100x200 178 100 100 10,26 363 607
00x20 17810100 10,26 363 607
100x240 178 M0 100 10,26 363 607
100x20 178 T 100 10,26 363 607
100x280 178 180 100 10,26 363 607
100x300 178 W0 100 10,26 363 607
0030 178 m 100 10,26 363 607
100x340 178 M0 100 10,26 363 607
100x30 178 260 100 10,26 363 607
100x30 178 280 100 10,26 363 607
100x400 178 00 100 10,26 363 607

R

I:In,llk I:In,llk
(kN [kN]
Olyp= 00
=90 og=90°
350 350
350 350
350 350
350 350
350 350
350 350
350 350
437 5713
487 6,07
43 573
510 6,07
510 6,07
510 510
510 510
510 510
510 510
510 510
510 510
510 510
510 510
510 510
510 510
510 510

Calculation according to ETA-11/0024. Wood density pi= 350 kg/m. All mechanical values provided should be viewed as subject to the assumptions that have been made and represent example calculafions.

Al values are calculated minimum values and are subject to typographical and printing errors.
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Steel / wood shearing
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t [
[mm] [kN]  [kN]
0=0" o=90°
3 5,60 498
3 5,60 498
3 5,60 498
3 5,60 498
3 5,60 498
3 5,60 498
3 5,60 498
3 6,78 581
3 0,94 597
3 112 6,76
3 112 6,76
3 112 6,76
3 112 6,76
3 112 6,76
3 112 6,76
3 112 6,76
3 Mm%
31 46
3 M 67
3 Im 4T
3 Mm%
31 46
3 Mo 47

a) The characteristic values of the load-bearing capacity Ry cannot be treated os equivalent to the max. possible load (the max. force). Characteristic values of the load-bearing capacity Ry should be reduced to dimensioning values Ry

vith regard o the usage class and class of the load durafion: Re= Ry - ks / v, The dimensioning values of the load-bearing capacity R should be contrasted with the dimensioning values of the loads (Rs > E.).

Example:

(hurudeprisiic value for constant load (dead weight) G,= 2,00 kN and variable load (e. g. snow load) Q= 3,00 kN. k= 0.9. 7,=1,3.

—> Dimensioning value of the load Ei=2,00- 1,35+ 3,00 1,5=7,20 kN.

The load-bearing capacity of the joint s therefore considered to have been demonsirated if Ry > Ex. — min Ri= Ry -y, / ks

i.¢. the characteristic minimum value is calculated based on: min Re= Ry - v, / kaut — Ri= 7,20 kN - 1,3/0,9= 10,40 kN — comparison with fable values.

Please note: These are planning aids. Projects must only be calculated by authorised persons.

285



	Gesamtkatalog_EN 283
	Gesamtkatalog_EN 284
	Gesamtkatalog_EN 285



